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Find the equation for the tangent line at the given point
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S) Find an equation of the line perpendicular to the tangent to the curve

y =4x* - 6x + 2 at the point (2, 22). \
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T) Find the points on the curve y = x* \eslu,re the langem i8
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i) Find %_(m})

(r

v 4+ V-ow

= (@) V) + ViDL Y
= 3.24 -3

| e

dx\ v
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v O

5 Producr Rule
iii) Find X(3H 2v+

S _\2 by 2 w-dy

V) Find the derivative of y = x with respect to x
W) Find the derivative of y = x with respect to t

X) Find the derivative of y = x with respect to P
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Flowchart: Selecting a Procedure for Derivatives

Step 1
Categorize the function,
'y
o Isita No Isita No Isit a function- No: Is it a basie
"~ | quotient? | product? within-a-function? function?
Yﬂ\ /es Ye\ Yes
Canyou change this Step 2
function into No Differentiate using the rule
another form? that would apply in Step 1.
2
Revise the form to
something easier.
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